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Public Sub bulid_zbus()
Fori=1Tonb
= ifo(i)
= ito(i)
If brprotery(i) = 1 Then
rbus(k, K) = brrpu(i)
xbus(k, k) = brxpu(i)
Elself brprotery(i) =2 Then
ji=kk-1
Forj=1Tojj
rbus(kk, j) = rbus(k, j)
xbus(kk, j) = xbus(k, j)
rbus(j, kk) = rbus(kk, j)
xbus(j, kk) = xbus(KKk, j)
Next j
rbus(kk, kk) = rbus(k, K) + brrpu(i)
xbus(kk, kk) = xbus(k, K) + brxpu(i)
Elself brprotery(i) = 3 Then
mm = nbus + 1
For j =1 To nbus
rbus(mm, j) = rbus(k, j)
xbus(mm, j) = xbus(k, j)
rbus(j, mm) = rbus(mm, j)
xbus(j, mm) = xbus(mm, j)
Next j
rbus(mm, mm) = rbus(k, k) + brrpu(i)
xbus(mm, mm) = xbus(k, k) + brxpu(i)
For il =1 To nbus
For j1 =1 To nbus
rl =rbus(il, mm)
x1 = xbus(i1, mm)
r2 = rbus(mm, j1)
x2 = xbus(mm, j1)
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Call cmpmult
r3 = rbus(mm, mm)
x3 = xbus(mm, mm)
Call cmpdiv
rbus(il, j1) = rbus(il, j1) - rdiv
xbus(il, j1) = xbus(il, j1) - xdiv
Next j1
Next il
Elself brprotery(i) = 4 Then
mm = nbus + 1
For j =1 To nbus
rbus(mm, j) = rbus(k, j) - rbus(kk, j)
xbus(mm, j) = xbus(k, j) - xbus(Kk, j)
rbus(j, mm) = rbus(mm, j)
xbus(j, mm) = xbus(mm, j)
Next j
rbus(mm, mm) = rbus(k, k) + brrpu(i) + rbus(kk, kk) - 2 * rbus(k, kKk)
xbus(mm, mm) = xbus(k, k) + brxpu(i) + xbus(kk, kk) - 2 * xbus(k, kk)
For il =1 To nbus
For j1 =1 To nbus
rl = rbus(il, mm)
x1 = xbus(il, mm)
r2 = rbus(mm, j1)
x2 = xbus(mm, j1)
Call cmpmult
r3 = rbus(mm, mm)
x3 = xbus(mm, mm)
Call cmpdiv
rbus(il, j1) = rbus(il, j1) - rdiv
xbus(il, j1) = xbus(il, j1) - xdiv
Next j1
Next il
End If
Next i
End Su
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Private Sub cmpmult()
rmu=rl*r2-x1*x2
Xxmu=rl*x2+r2*xl
End Sub
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Private Sub cmpdiv()
Sqz=r3"2+x3"2
rdiv = (rmu * r3 + xmu * x3) / sqz
xdiv = (xmu * r3 - rmu * x3) / sqz
End Sub
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Public Sub cal_ybus()
For i =1 To nbus
For j =1 To nbus
bbus(i, j) =0
gbus(i, j) =0
Next
Next
Fori=1To nbt
bbus(ifo(i), ifo(i)) = bbus(ifo(i), ifo(i)) + brbpu(i)
gbus(ifo(i), ifo(i)) = gbus(ifo(i), ifo(i)) + brgpu(i)
If ito(i) =1 Then
GoTo 5
End If
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bbus(ito(i), ito(i)) = bbus(ito(i), ito(i)) + brbpu(i)
bbus(ifo(i), ito(i)) = bbus(ifo(i), ito(i)) - brbpu(i)
bbus(ito(i), ifo(i)) = bbus(ifo(i), ito(i))
gbus(ito(i), ito(i)) = gbus(ito(i), ito(i)) + brgpu(i)
gbus(ifo(i), ito(i)) = gbus(ifo(i), ito(i)) - brgpu(i)
gbus(ito(i), ifo(i)) = gbus(ifo(i), ito(i))

5 Next

e R L F #7892 4 (nbus-1)*(nbus-1)
Fori=1Tonbus-1
Forj=1Tonbus-1
ybus(i, ) =0
ybusag(i, j) =0
Next
Next
Fori=1Tonbus-1
Forj=1Tonbus-1
rp=gbus(i+1,j+1)
ip=bbus(i+1,j+1)
ybus(i,j)=(rp~"2+ip"2)~ 0.5
Call ybsang
ybusag(i, j) = agle
If Abs(ybusag(i, j)) > pi Then
If ybusag(i, j) <0 Then
ybusag(i, j) = ybusag(i, j) + 2 * pi
Elself ybusag(i, j) > 0 Then
ybusag(i, j) = ybusag(i, j) - 2 * pi
End If
End If
Next
Next
End Sub

r e
Public Sub ybsang()
Ifrp=0Andip=0Then
agle=0
Exit Sub
Elself rp =0 And ip >0 Then
agle=pi/2
Exit Sub
Elself rp =0 And ip <0 Then
agle=-pi/?2
Exit Sub
End If
ag = Atn(Abs(ip) / Abs(rp))
If rp>0Andip>=0Then
agle = ag
Elself rp <0 And ip >0 Then
agle = pi - ag
Elself rp <0And ip <0 Then
agle = (pi + ag)
Elself rp >0 And ip <=0 Then
agle = -ag
End If
End Sub
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ZBS, 1o = . 1 +ZZBFLX'S 1y 7B, (38)
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1 Ky i-1
ZBSFi,y,To(i) - 1 1 +ZZBFL%S I ZEFi,y + ZZBFi,y,t (39)
i t=1

ZBS,, ZFD, =
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Public inputdb As New ADODB.Connection, bsvltb As New ADODB.Recordset, tpsrth As New
ADODB.Recordset

Public trtb As New ADODB.Recordset, contb As New ADODB.Recordset, loadth As New
ADODB.Recordset

Public bsintcpdb As New ADODB.Connection, hvlinscptb As New ADODB.Recordset, Ivlinscpth As
New ADODB.Recordset

Public hvlintrcpth As New ADODB.Recordset, afaltbsvtb As New ADODB.Recordset

REEFREETHE

Public Sub set_database_and_table()
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inputdb.ConnectionString = "Provider=Microsoft.Jet. OLEDB.4.0;Data Source=" & App.Path & "\ﬁ%l
»> F#L.mdb"

inputdb.CursorLocation = adUseClient

inputdb.Open

bsvith.Open "%/ 7 /&", inputdb, adOpenStatic, adLockOptimistic

tpsrth.Open " = & % #&", inputdb, adOpenStatic, adLockOptimistic

trtb.Open "% /& ®", inputdb, adOpenStatic, adLockOptimistic

contbh.Open "# 4", inputdb, adOpenStatic, adLockOptimistic

loadtb.Open " § §*", inputdb, adOpenStatic, adLockOptimistic

RN TR TR

bsintcpdb.ConnectionString = "Provider=Microsoft.Jet. OLEDB.4.0;Data Source=" & App.Path & "\
T Ec e E £ .mdb”

bsintcpdb.CursorLocation = adUseClient

bsintcpdb.Open

hvlinscptb.Open "5 /& %/ # gz pF % £ ", bsintcpdb, adOpenStatic, adLockOptimistic

Ivlinscpth.Open " i< & & i 2 gz ¥ % £ ", bsintcpdb, adOpenStatic, adLockOptimistic

hvlintrcpth.Open " & /& %/ £ g %77 £ ", bsintcpdb, adOpenStatic, adLockOptimistic

afaltbsvtb.Open "# F % £ 7 R", bsintcpdb, adOpenStatic, adLockOptimistic

End Sub
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